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EFRAS R H S
2018 &£ 8 H
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.112 0.005 &
LA i 1.512 0.006 — 0.818 0.083 =
/L4, (HCI) 4,545 0.001 - 0.215 0.096 =
mIbE (HF) 0.306 0.000 — 0.115 0.026 s
— &b (SO2) 15.147 0.218 — 6.899 2.630 =
—4&bi% (CO) 7.578 0.014 - 0.163 0.075 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 1.171 - 9.622 3.282 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.004 — 0.015 0.005 &
LA 0.756 0.032-0.173 0.084 =
Z/LE (HCI) 0.756 0.066 — 0.159 0.095 s
wAbE (HF) 0.072 0.018 — 0.044 0.026 =
&R (SO2) 3.789 2.417 — 3.044 2.628 =
—&Ei% (CO) 3.789 0.053 —0.103 0.074 =
HAY (NOx)
DL=%AEE (NO2) 15.147 2.026 —5.299 3.271 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0014 =
R A 0.0378 <0.0062 &
IR R g ) 7.575 x 10°° <6.878 x 1020 &
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2018 &£ 8 H
YK AF
S HeERPRE® R IE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.002 — 0.154 0.004 &
LA i 1.512 0.021 — 0.496 0.085 =
Z/LE (HCD 4.545 0.057 - 0.213 0.145 TE
mIbE (HF) 0.306 0.015 —0.105 0.051 s
—&AERi (SO2) 15.147 0.033-4.113 2.273 TE
—4&bi% (CO) 7.578 0.000 — 0.132 0.021 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.330-9.719 2.638 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.013 0.004 &
LA 0.756 0.038 - 0.128 0.085 =
Z/LE (HCI) 0.756 0.127 - 0.175 0.145 s
#IbE (HF) 0.072 0.038 — 0.063 0.051 =
&R (SO2) 3.789 1.151 - 2.720 2.250 =
—&Ei% (CO) 3.789 0.005 — 0.050 0.021 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.981 - 6.129 2.609 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0004 =
S SE VAR 0.003789 <0.0016 =
R A 0.0378 <0.0071 &
IR R g ) 7.575 x 107 <7.994 x 1010 =
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2018 &£ 8 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 — 0.014 0.003 &
LA i 1.512 0.000 —0.811 0.088 =
/L4, (HCI) 4.545 0.034 - 0.139 0.097 =
mIbE (HF) 0.306 0.007 — 0.068 0.034 =
— &b (SO2) 15.147 0.051 — 4.460 1.950 =
—4&bi% (CO) 7.578 0.001 —0.210 0.101 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.555 — 6.736 1.877 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 — 0.004 0.003 &
LA 0.756 0.017 — 0.158 0.088 =
/L4, (HCD 0.756 0.067 — 0.114 0.097 =
wAbE (HF) 0.072 0.028 — 0.040 0.034 =
— &b (SO2) 3.789 1.540 — 2.228 1.950 =
—&Ei% (CO) 3.789 0.066 —0.139 0.101 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.896 — 4.525 1.875 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 0.0006 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0056 &
IR R g ) 7.575 x 10°° <6.271 x 1010 &
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